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CHAPTER 4
INDUSTRIES
SOLUTIONS:

EXERCISES:

1. Answer the following questions in a sentence.
a. What do you mean by the term “Industry”?
Answer: Industry is an economic activity concerned with the production of goods
from the raw materials to a more valuable and useful product.
b. Where is Silicon Valley located?
Answer: Silicon Valley is located in central California in the western part of the
USA.
c. Name the three major industries of the world.
Answer: Iron and Steel industry, Textile industry and Information Technology
industry.
2. Answer the following questions in a sentence:
a. What are the four categories of industries based on raw materials?
Answer: The four categories of industries based on raw materials are (1) Agro —
based industries (2) Marine based industries (3) Forest based industries and (4)
Mineral based industries.

b. What is an industrial region?

Answer: As soon as an industry is established in a region different region,
different kinds of infrastructure facilities and services also come up in that
region. As the facilities are available other industries also get attracted to the

region and the region is known as an industrial region
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c. Name two important centres each of iron and steel industry and cotton textile

industry in the world.

Answer: The two important centres of iron and steel industry and cotton textile

industry in the world are

I.  Iron and Steel Industry in Detroit (USA) &Tata Iron and Steel Company
in Jamshedpur
Il.  Ahmedabad and Osaka (Japan) for Cotton Textile Industry

d. What is Information technology?

Answer: technology (IT) is a new industry that emerges only in the 1970 s.
The use of technologies Information like computer, calculators, telephones, E-
mail, website to provide information at a great speed is called information

technology.

3. Choose the correct answer:
(@) which one of the following is noted for cotton textile industry ?
A. Jamshedpur B. Durgapur C. Ahmedabad D.

Bokaro
Answer: (C) Ahmedabad

(b) The city which employee the heighest number of software professionals industry

is

A. Mumbai B. Delhi C. Chandigarh D.Banglore
Answer: (D) Banglore

(c) The candle manufacturing industries of Manipur belongs to

A. Public sectors industries
B. Private sector industries
C. Co- Operative industries

D. Joint sectors industries

Answer: (B) Private sectors industries
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4. Say true or false against the following statements

(a) Tata Iron and Steel Company Limited is owned by the government of India
Answer : False

(b) Detroit is known as the automobile capital of the world
Answer: True

(c) Fibres may be classified into natural and man made
Answer: True

(d) Osaka is not a coastal city.

Answer: (False)
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